
D = 

EN standard approval acquired. (1-0V, CE marking) 
Mechanical life exceeds 20 million operations owing to a 2-piece spring 
mechanism. 
High sensitivity. (M.D. =0.1mm) 
High sealability, Oil-resistant/immersion-proof type (JIS) and 1P67 (IEC). 
An 0-ring seal and an integral diaphragm seal are built in. 
Small, space-saving and tightly gang mounting is possible. 
UL/CSA conformed. 

     

      

      

   

    

    

    

    

    

*

!

=PFEJGJECSJONR

ELJEK

8O% .;$;.$(&'&0

=6' =FQJFR =TPFQ 6JMJS =UJSEIFR

10,>?<0=

APNSLXTNLV @TQP YQ +) ATVVTYX CZP\L^TYX]% =TRS FPLVLMTVT^c LXO =TRSVc EYM_]^

@YXR&VTQP LXO ALTX^PXLXNP&Q\PP 7YWZLN^ =Y\TdYX^LV GcZP @TWT^ FaT^NSP]'

f
f

f
f

f
f

"_XT^3 WW#

*1
.0'*

/*',

GSP ZSY^YR\LZS ]SYa] L \YVVP\ ZV_XRP\ ^cZP'
7YXQT\W ^SP OP^LTV OTWPX]TYX] Mc O\LaTXR]'

http://www.stateelect.com//D-START.pdf
Administrator
TextBox
Allegheny Electronics
1301 Potomac Ave..
Hagerstown, MD 21742
TEL 800-296-6460  301-739-6460
FAX 800-296-7674  301-739-5311
www.alleghenyelectronics.com


http://www.alleghenyelectronics.com


+

9</0< 2?4/0 !DCRJE ECSCLOH LJRSJNH"

^ DMWLRXW GRUH

=SWMRQV
/GWXEWRU

0EVMG GEWEORK
OMVWMQK

9RZ GXUUIQW
OREH W\SI

5

1ROH EQH ZIEWLIU
UIVMVWEQW W\SI

6

1ROH EQH ZIEWLIU
UIVMVWEQW W\SI#ORZ
GXUUIQW OREH W\SI

56

6MKL WIPSIUEWXUI EQH
LMKL RMO UIVMVWEQGI

<RWI (

@
<EPI @LESI

EYVVP\
ZV_XRP\ ^cZP

=6'$, =6'$,5 =6'$,6 =6'$,56 =6'$,@

6YY^ ]PLV \YVVP\
ZV_XRP\ ^cZP

=6'$- =6'$-5 =6'$-6 V =6'$-@

7\Y]] \YVVP\
ZV_XRP\ ^cZP

=6'$/ =6'$/5 =6'$/6 =6'$/56 =6'$/@

@YXR \YVVP\
ZV_XRP\ ^cZP

=6'$0 =6'$05 =6'$06 V =6'$0@

DV_XRP\ ^cZP =6'$3 =6'$35 =6'$36 =6'$356 =6'$3@

FSY\^ \YVVP\
VP`P\ ^cZP

=6'$; =6'$;5 =6'$;6 =6'$;56 =6'$;@

<RWI (. H@(7F5(9B ]^LXOL\O] L\P XY^ LZZVTPO'

<RWI ). H]P aT^S =6'$;,'('

0A>0<8,6 =>,8/,</=

/SSURYMQK FRH\ @WEQHEUH QEPI 4MOI <R%

7QWIUQEWMRQEO
ESSURYEO VWEQHEUHV

H@ H@ .)1
7F5 7 ++'+ BY'*-

9 2/)2)

G nHI 9B /)2-0&.&* E +&.)))/,-2

2RPIVWMG GRPSOMEQW
VWEQHEUHV

e
?>F 7 1+)*&.&*
>97 /)2-0&.&*

e

Administrator
TextBox
Allegheny Electronics
1301 Potomac Ave..
Hagerstown, MD 21742
TEL 800-296-6460  301-739-6460
FAX 800-296-7674  301-739-5311
www.alleghenyelectronics.com


http://www.alleghenyelectronics.com


,

=SWMRQV

6MKL WIPSIUEWXUI EQH
LMKL RMO UIVMVWEQGI#ORZ
GXUUIQW OREH W\SI<RWI (

5@

DMWLRXW GRYIU
<RWI )

8

DMWLRXW GRYIU#ORZ
GXUUIQW OREH W\SI

58

=6'$,5@ =6'$,8 =6'$,58

V V =6'$-58

V =6'$/8 =6'$/=58

V =6'$08 V

V =6'$38 =6'$358

=6'$;5@ =6'$;8 V

Administrator
TextBox
Allegheny Electronics
1301 Potomac Ave..
Hagerstown, MD 21742
TEL 800-296-6460  301-739-6460
FAX 800-296-7674  301-739-5311
www.alleghenyelectronics.com


http://www.alleghenyelectronics.com


f2 
f2 

f2 
52 

-

;0<19<7,8.0

7WIP 2IWEMOV

3[WIUQEO VWEQHEUHV 1RQJRUPIH VWEQHEUHV ?>F 7 1+)*&.&*(>97 /)2-0&.&*

/SSURYEO VWEQHEUHV
H@ .)1(7F5 7 ++'+ BY'*-(>97 /)2-0&.&*

9bNPZ^ STRS YTV LXO SPL^ \P]T]^LX^ ^cZP

@WUXGWXUI 1RQWEGW W\SI FTXRVP&DYVP 8Y_MVP&GS\Ya "FD8G# "EPQP\ ^Y NYX^LN^ ^cZP TX QTR_\P MPVYa'#

1RQWEGW VLESI
F^LXOL\O VYLO ^cZP3 D_\P ]TV`P\ \T`P^

@Ya N_\\PX^ VYLO ^cZP3 <YVO&ZVL^PO ]TV`P\% \T`P^

AIUPMQEO VLESI A, ]N\Pa LXO NYXXPN^Y\

>URWIGWMYI VWUXGWXUI >D/0 ">97 /).+2#

=SIUEWMQK IQYMURQPIQW SROOXWMRQ OIYIO ,

3OIGWUMGEO
SIUJRUPEQGI

3OIGWUMGEO UEWMQK FPP GLMVP *

?EWIH JUITXIQG\ -. ^Y /.=d LXO O'N'

7QVXOEWMRQ UIVMVWEQGI
6P^aPPX XYX&NYX^TX_Y_] ^P\WTXLV]3 *))A '

6P^aPPX PLNS ^P\WTXLV LXO XYX&NYXO_N^TXR WP^LV ZL\^3 *))A '

?EWIH MQVXOEWMRQ UIVMVWEQGI !BM"
+.)I

8TPVPN^\TN ]^\PXR^S MP^aPPX PLNS ^P\WTXLV LXO XYX&NYXO_N^TXR WP^LV ZL\^3
+%)))ILN ".) ^Y /)=d% .]% VPLU N_\\PX^ *W5#

2MIOIGWUMG VWUIQKWL FIWZIIQ GRQ$
WEGWV *%)))ILN ".) ^Y /)=d% .]% VPLU N_\\PX^ *W5#

?EWIH MPSXOVI HMIOIGWUMG VWUIQKWL
!BPS" +%.))I

@ZMWGLMQK RYIUGXUUIQW 7L^PRY\c >>

7QMWMEO GRQWEGW UIVMVWEQGI
FTV`P\ NYX^LN^3 .)W WLb' "/ ^Y 1ION% *5 `YV^LRP O\YZ WP^SYO#%

<YVO&ZVL^PO NYX^LN^3 *))W WLb' "/ ^Y 1ION% )'*5 `YV^LRP O\YZ WP^SYO#

1RQWEGW PMQMPXP EOORZEFOI OREH
FTV`P\ NYX^LN^3 .W5&+-ION% *)W5&*+ION

<YVO&ZVL^PO NYX^LN^3 .W5&.ION

?EWIH IQIUKM]MQK GXUUIQW !7WL"
FTV`P\ NYX^LN^3 .5

<YVO&ZVL^PO NYX^LN^3 *5
"GPWZP\L^_\P TXN\PL]P3 /.l7 WLb'#

@LRUW$GMUGXMW SURWIGWMRQ PIGLEQ$
MVP A*)5 ">97 /)*+0#

1RQHMWMRQEO UEWIH VLRUW$GMUGXMW GXU$
UIQW *%)))5 "ZYaP\ QLN^Y\ )'. ^Y )'0#

;IGLEQMGEO
SIUJRUPEQGI

/GWXEWRU VWUIQKWL JT^S]^LXO VYLO . ^TWP] C';' "YZP\L^TXR OT\PN^TYX QY\ * WTX_^P#

AIUPMQEO VWUIQKWL JT^S]^LXO ^TRS^PXTXR ]^\PXR^S YQ )'/B&W QY\ * WTX_^P

7PSEGW UIVMVWEQGI !PEOJXQGWMRQ" ,))W(]+% 7YX^LN^ \PVPL]P YQ *W] WLb' L^ Q\PP ZY]T^TYX LXO YZP\L^TXR VTWT^ ZY]T^TYX]

CMFUEWMRQ UIVMVWEQGI !PEOJXQGWMRQ"
;\P[_PXNc *) ^Y ..=d% *'.WW ZPLU&^Y&ZPLU LWZVT^_OP QY\ + NYX^TX_Y_] SY_\]

7YX^LN^ \PVPL]P YQ *W] WLb' L^ Q\PP ZY]T^TYX LXO YZP\L^TXR VTWT^ ZY]T^TYX] Y\ YZP\L^TXR VTWT^ ZY]T^TYX

/OORZEFOI RSIUEWMQK VSIIH )')+WW(] ^Y )'.W(]' )')+WW(] ^Y )'+.W(] YX ^SP =6'$- FP\TP]

;IGLEQMGEO RSIUEWMQK JUITXIQG\
ALb' *+) YZP\L^TYX](WTX_^P'

ALb' /) YZP\L^TYX](WTX_^P YX NYVO LXO aPL^SP\ \P]T]^LX^(STRS YTV LXO SPL^ \P]T]^LX^ ^cZP]'

9MJI

;IGLEQMGEO OMJI

ATX' +) WTVVTYX YZP\L^TYX]' ATX' + WTVVTYX YZP\L^TYX] YX ^SP =6'$- FP\TP]'
ATX' * WTVVTYX YZP\L^TYX] YX NYVO LXO aPL^SP\ \P]T]^LX^ ^cZP'

ATX' + WTVVTYX YZP\L^TYX] YX STRS YTV \P]T]^LX^ SPL^ \P]T]^LX^ ^cZP'
C`P\^\L`PV "C'G'# T] 0) ^Y *))! YQ ]^LXOL\O `LV_P'

3OIGWUMGEO OMJI
F^LXOL\O VYLO ^cZP3 ATX' + WTVVTYX YZP\L^TYX] "*+.ILN&*5 \P]T]^T`P VYLO#

ATX' ,))%))) YZP\L^TYX] "*+.ILN&.5% ,)ION&.5 \P]T]^T`P VYLO#
@Ya N_\\PX^ VYLO ^cZP3 ATX' . WTVVTYX YZP\L^TYX] "*+.ILN&)'*5% -1ION&)'*5 \P]T]^T`P VYLO#

3QYMURQPIQWEO
GRQHMWMRQV

=SIUEWMQK EPFMIQW WIPSIUEWXUI

F^LXOL\O ^cZP3 e*) ^Y $0)l7
7YVO LXO aPL^SP\ \P]T]^LX^ ^cZP3 e-) ^Y $0)l7 "Y^SP\ ^SLX MPVYa#

e,) ^Y $0)l7 YX =6'$- "Q\PPdTXR XY^ LVVYaPO#
=TRS YTV LXO SPL^ \P]T]^LX^ ^cZP3 ) ^Y *+)l7

=SIUEWMQK EPFMIQW LXPMHMW\ ALb' 21!E=

?IGRPPIQHIH
WMKLWIQMQK WRUTXI

0RH\ *', ^Y *'0B&W "A- SPbLRYX ]YNUP^ SPLO MYV^#

AIUPMQEO VGUIZ )'- ^Y )'/B&W "A, MTXOTXR SPLO WLNSTXP ]N\Pa#

>EQIO PRXQWMQK QXW - ^Y /B&W "A*- SPbLRYXLV X_^#

Administrator
TextBox
Allegheny Electronics
1301 Potomac Ave..
Hagerstown, MD 21742
TEL 800-296-6460  301-739-6460
FAX 800-296-7674  301-739-5311
www.alleghenyelectronics.com


http://www.alleghenyelectronics.com


2 (N.C.) 
(COM.) 1 

4 (N.0.) 

■ 

(COM.) 1 	 

2 (N.C.)   4 (N.0.) 
(EN60947 - 5 -1) 	 (EN60947 -5 -1) 

COM N.C. N.0 

.

AEFOI (% 3OIGWUMGEO UEWMQK

7WIP 1RQWEGW
PEWIUMEO

87@&731&3< B9&1@/

@WEQHEUH OREH
W\SI

FTV`P\ 57&*.3 ,5&+.)I
57&*+3 .5&+.)I
87&*+3 +5&-1I

.5&+.)ILN <PXP\LV H]P @YLO

.5&,)ION

9RZ GXUUIQW
OREH W\SI

<YVO&ZVL^PO 57&*+3 )'*5&*+.I
87&*+3 )'*5&-1I

)'*5&*+.ILN <PXP\LV H]P @YLO
)'*5&,)ION

^?IJIUIQGI UEWMQK !?EWMQKV JOXGWXEWI EGGRUHMQK WR WLI RSIUEWMQK IQYMURQPIQW EQH W\SI RJ OREH% 1LIGN YEOXIV RQ EQ EGWXEO

RSIUEWMQK XQMW%"

^ @WEQHEUH OREH PRHIO. @MOYIU GRQWEGW

(),CEG ),'CEG

/1 UEWMQK
?IVMVWEQGI 7QHXGWMRQ

3OIGWUMG PRWRU
?IVMVWEQGI 7QHXGWMRQ

3OIGWUMG PRWRU

<%1% <%=% <%1% <%=%

1XUUIQW !/" . , * + . , )'. *

21 UEWMQK
-CHG (+CHG *'CHG ((,CHG )*'CHG

?IVMVWEQGI 7QHXGWMRQ ?IVMVWEQGI 7QHXGWMRQ ?IVMVWEQGI 7QHXGWMRQ ?IVMVWEQGI 7QHXGWMRQ ?IVMVWEQGI 7QHXGWMRQ

1XUUIQW !/" . , . , . , )'. )'* )'+. )').

^ 9RZ GXUUIQW OREH W\SI. 5ROH$SOEWIH GRQWEGW

/1 UEWMQK
((,CEG

?IVMVWEQGI 7QHXGWMRQ

1XUUIQW !/" )'* e

21 UEWMQK
-CHG (+CHG *'CHG

?IVMVWEQGI 7QHXGWMRQ ?IVMVWEQGI 7QHXGWMRQ ?IVMVWEQGI 7QHXGWMRQ

1XUUIQW !/" )'* e )'* e )'* e

<RWI. ii>XO_N^T`P VYLOjj \PQP\] ^Y L VYLO SL`TXR L ZYaP\ QLN^Y\ YQ )'- LXO ^TWP NYX]^LX^ 0W] "87#' ii9VPN^\TN WY^Y\ VYLOjj \PQP\] ^Y L VYLO SL`TXR LX
TX\_]S N_\\PX^ `LV_P YQ ]Tb ^TWP]'

.98>,.> >B;0

?ROOIU OIYIU W\SI ?ROOIU SOXQKIU W\SI

Administrator
TextBox
Allegheny Electronics
1301 Potomac Ave..
Hagerstown, MD 21742
TEL 800-296-6460  301-739-6460
FAX 800-296-7674  301-739-5311
www.alleghenyelectronics.com


http://www.alleghenyelectronics.com


Bracket: SUS301 

N.C.: White 

• 2  • 

1 
4 r 

COM: Blue 
N 0 • Black 

Q 9 0 
%Is  , 

IIIIII 

IT 
I 

a 

Al■ 
:11

4

1iii N.C.: White  

Irk"  

COM: Blue 	,  N.O.: Black 

17.5 

Terminal cover: 
PBT resin  

 

Connector: Nylon resin 

  

   

/

,?A46,<B ;,<>=

<EPI /SSIEUEQGI @SIGMJMGEWMRQV 1EWEORK OMVWMQK

;,+ @IUMIV GRQQIGWRU
GRYIU

;Y\ 87 ^cZP% , VPLO] =6'$;,+4)

AIUPMQEO GRYIU RQI VIW 7Y`P\% ZLXPV WY_X^TXR X_^] "+#% NLZ X_^% aL]SP\ LXO
]PLV] "QY\ .'1 ^Y 0'1OTL' NY\O LXO QY\ 0'2 ^Y 2'/OTL' NY\O#

=6'$;,'(

@IEO FPLV QY\ 0'2 ^Y 2'/OTL' NY\O3

;Y\ ]^LXOL\O ^cZP% WL^P\TLV & B6E NYX^LTXTXR DI7% LXO
*) ZTPNP] ZP\ ]P^

=6'$;,((

FPLV QY\ 0'2 ^Y 2'/OTL' NY\O3

;Y\ NYVO LXO aPL^SP\ \P]T]^LX^ ^cZP% WL^P\TLV & QV_Y\Y]TVT&
NYXP \_MMP\% LXO *) ZTPNP] ZP\ ]P^

=6'$;,()

FPLV QY\ 0'2 ^Y 2'/OTL' NY\O3

;Y\ STRS ^PWZP\L^_\P LXO STRS YTV \P]T]^LX^ ^cZP% WL^P\TLV
& QV_Y\YNL\MYX \_MMP\% LXO *) ZTPNP] ZP\ _XT^

=6'$;,(*

^ 1RQQIGWRU JRU =6' @IUMIV

GSP =6' FP\TP] NLX MP WYOTQTPO TX^Y L NYXXPN^Y\ ^cZP Mc
L]]PWMVTXR =6'$;,+') MPVYa ZL\^] YX^Y ^SP =6' ]aT^NS
MYOc'
5^ ^ST] ^TWP% PT^SP\ \PZVLNP ^SP ^P\WTXLV NY`P\ YQ ^SP =6'

]^LXOL\O ^cZP ]aT^NS aT^S ^SP ]PLV NYXXPN^Y\ aT^S NY\O% Y\
L]]PWMVP ^SP ^P\WTXLV NY`P\&VP]] ^cZP ]aT^NS'

^ /VVIPFO\ PIWLRH

#

=6' MYOc NL^LVYR
VT]^TXR LZZPXOPO
aT^S B

7YXXPN^Y\ NY`P\
7L^LVYR VT]^TXR
=6'$;,+')

7YXXPN^Y\ ^cZP =6'

^ DMUMQK HMEKUEPV

4RU 21

3[WIUQEO HMPIQVMRQV

Administrator
TextBox
Allegheny Electronics
1301 Potomac Ave..
Hagerstown, MD 21742
TEL 800-296-6460  301-739-6460
FAX 800-296-7674  301-739-5311
www.alleghenyelectronics.com


http://www.alleghenyelectronics.com


Li
fe

  (
10

,0
00

 o
p

er
  

1000 

500 

300 

200 

100 

50 

30 

20 

500 

400 
200 

100 

50 

30 
20 

10 

5 

3 
2 

1000 

500 

300 

200 

100 

50 

30 

20 

Li
fe

  (
10

,0
00

 o
p

er
at

io
ns

)  
Li

fe
  (

10
,0

0
0
 o

p
er

at
io

ns
)  

Li
fe

  (
10

, 0
00

 o
p

er
at

io
ns

)  

1000 

500 

300 

200 

100 

50 

30 

20 

1 0 

10
0  

100V resistive load 

24V coil load 

MUMW
■

MW 
 6 	16. Ih6- 

MUM 

resistive load 

100V coil load 

1 
	

2 	3 	4 
	

5 

Current value (A)  

kihh2V  resistive load 

24V coil load 

MMr■M 
I—  100V resistive 

 MEMT1 
MEI 

100V coil load 

0 
	

2 	3 	4 
	

5 

Current value (A) 

100V resistive load 

0.02 0.04 0.06 0.08 	01 	0.12 

Current value (A) 

1 0
0  0.02 0.04 	0.06 	0.08 	01 	0.12 

Current value (A) 

24V resistive load 

Oil - containing sintered 
stainless steel 

Wear resistance is improved 
by hardening treatment. 

Zinc alloy die- cast housing 
Fluorocarbon resin coating (black 

• Excellent mechanical strength 
• Excellent corrosion resistance 

M4 screw mounting 

Securely mountable 

Snap-in structure  
Single-touch 
mounting seal 
of terminal cover 

0- ring seal 
High sealability 
JIS Immersion 
- proof type 

IEC IP67 

Wide wiring space 

Setting position indication  
Appropriate movement 
after operation can be set 
at glance. 

Integrated seal  
Oil is fully shut out. 

/ 	2 - piece spring structure 
Long life: Min. 20 million operations  

/ (Actual capacity: 25 million operations) 
High sensitivity M.D. Max. 0.1 

High contact reliability 

High wiping 
contact pressure 

Large 
 

9 

Easy wiring 

Resin terminal cover Protects 

The terminal ass'y easily 
and securely. 

Seal 
Fastening strength 
and stable sealing are improved 
by the fastening system. 
Applicable cords: 
5.8 to 7.8dia. 

0

^3OIGWUMGEO OMJI GLEUEGWIUMVWMGV
^ <RUPEO OREH W\SI

$ 7Q GEVI RJ /1 GRQWEGW YROWEKI $ 7Q GEVI RJ 21 GRQWEGW YROWEKI

^ 9RZ GXUUIQW OREH W\SI

$ 7Q GEVI RJ /1 GRQWEGW YROWEKI $ 7Q GEVI RJ 21 GRQWEGW YROWEKI

=><?.>?<0 /4,2<,7=

?ROOIU SOXQKIU W\SI

Administrator
TextBox
Allegheny Electronics
1301 Potomac Ave..
Hagerstown, MD 21742
TEL 800-296-6460  301-739-6460
FAX 800-296-7674  301-739-5311
www.alleghenyelectronics.com


http://www.alleghenyelectronics.com


Settingposition indication 

Roller 11dia. x 4 
Sintered stainless steel 

M14x1 
Nut: thickness 2.5 
Distance 
across flats 17 

3- M3 x5 
terminal screw 

Conduit hole 
9.7,0:5 dia. 

12.6, 4.2 -IS' dia. 
Mounting hole 

EE 

n 4 
Sintered stainless steel 

12.6, 

Boot seal 
Oil- proof 
synthetic rubber 

4.218'dia. 
Mounting hole 

3 -M3 x 5 
terminal screw  

Conduit hole 
9.7,0.15 dia. 

EE 

Roller:11dia. x 4 
Sintered stainless steel 

Setting position 
indication 

.7—M14 x1 
Nut: thickness 2.5 
Distance 
across flats 17 

3-M3x5 
terminal screw  

Conduit hole 
9.7,o,s dia. 

12.6, 4.213 1  dia. 
Mounting hole 

EE 

12.6,1 4.2 *-S -  dia. 
Mounting hole 

45.4 

6.2 	33,0:5 

9.5 3a zs 

M14x1 

Nut: thickness 2.5 
Distance 
across flats 17 

3-M3 x5 
terminal screw 

Conduit hole 
9.7,0, dia. 

H 

0 

Roller:11dia. x 4 
Sintered stainless steel 

44.5 ,0 . 0 

EE 

1

,;;0,<,8.0# 9;0<,>482 .3,<,.>0<4=>4.= ,8/ 0A>0<8,6 /4708=498=

"_XT^3 WW#

?ROOIU SOXQKIU W\SI

1EWEORK OMVWMQK =6'$,

(7/8,;251 068-/
(#%# !' 4,=#"

**'1

*/3/,9/ 068-/
*#%# !' 425#"

-'2

)8/;8,</3
)#+# !44 4,=#"

*'.

(</8;8,</3
(#+# !44 425#"

,

&6</4/5; .200/8/5;2,3
&#$# !44 4,=#"

)'*

(7/8,;251 7692;265
*#)# !44"

,*'- )'1

0RRW VIEO UROOIU SOXQKIU W\SI

1EWEORK OMVWMQK =6'$-

(7/8,;251 068-/
(#%# !' 4,=#"

**'1

*/3/,9/ 068-/
*#%# !' 425#"

-'2

)8/;8,</3
)#+# !44 4,=#"

*'.

(</8;8,</3
(#+# !44 425#"

,

&6</4/5; .200/8/5;2,3
&#$# !44 4,=#"

)'*

(7/8,;251 7692;265
*#)# !44"

-*'- )'1

1URVV UROOIU SOXQKIU W\SI

1EWEORK OMVWMQK =6'$/

(7/8,;251 068-/
(#%# !' 4,=#"

**'1

*/3/,9/ 068-/
*#%# !' 425#"

-'2

)8/;8,</3
)#+# !44 4,=#"

*'.

(</8;8,</3
(#+# !44 425#"

,

&6</4/5; .200/8/5;2,3
&#$# !44 4,=#"

)'*

(7/8,;251 7692;265
*#)# !44"

,*'- )'1

9RQK UROOIU SOXQKIU W\SI

1EWEORK OMVWMQK =6'$0

(7/8,;251 068-/
(#%# !' 4,=#"

**'1

*/3/,9/ 068-/
*#%# !' 425#"

-'2

)8/;8,</3
)#+# !44 4,=#"

*'.

(</8;8,</3
(#+# !44 425#"

,

&6</4/5; .200/8/5;2,3
&#$# !44 4,=#"

)'*

(7/8,;251 7692;265
*#)# !44"

-*'- )'1



Setting position 
indication 

0 

co. 

4.2 	dia. 
Mounting hole 

44.5 ,Da 

12.6, 

44.5 *o.e 

12.6,  

45,4 
Setting position indication 6.2 

,Plunger7.8clia. 
\❑ Stainless steel 

M14x1 

Nut: thickness 2.5 
Distance 
across flats 17 

3—M3 x5 
terminal screw  

Conduit hole 
9.7±0., dia. 

Mounting hole 
4.2 IV dia. 

EE 

45.4 

,Roller:11dia. x 4 
Sintered stainless steel 

3—M3 x5 
terminal screw 

Conduit hole 
9.7,1i5 dia. 

6. 	33±0.15 

19 ozs EE 

2

"_XT^3 WW#

>OXQKIU W\SI

1EWEORK OMVWMQK =6'$3

(7/8,;251 068-/
(#%# !' 4,=#"

**'1

*/3/,9/ 068-/
*#%# !' 425#"

-'2

)8/;8,</3
)#+# !44 4,=#"

*'.

(</8;8,</3
(#+# !44 425#"

,

&6</4/5; .200/8/5;2,3
&#$# !44 4,=#"

)'*

(7/8,;251 7692;265
*#)# !44"

+.'- )'1

@LRUW UROOIU OIYIU W\SI

1EWEORK OMVWMQK =6'$;

(7/8,;251 068-/
(#%# !' 4,=#"

-')

*/3/,9/ 068-/
*#%# !' 425#"

)'01

)8/;8,</3
)#+# !44 4,=#"

+

(</8;8,</3
(#+# !44 425#"

-

&6</4/5; .200/8/5;2,3
&#$# !44 4,=#"

)',

(7/8,;251 7692;265
*#)# !44"

+,'* )'1

Administrator
TextBox
Allegheny Electronics
1301 Potomac Ave..
Hagerstown, MD 21742
TEL 800-296-6460  301-739-6460
FAX 800-296-7674  301-739-5311
www.alleghenyelectronics.com


http://www.alleghenyelectronics.com


o An example of standard connections 
using crimp - type terminal lug, 
having an insulation sleeve 

Seal fastening face 
(Do not scratch.) 

5 

An example of insulating 
a bare crimp-type terminal lug 
with a mark tube or the like 

Mark tube or the like  

10 

Cord termination dimension 

Short circuit 

An example of reversing the direction 
of a bare crimp - type terminal lug 

Seal fastening face 
(Do not scratch.) 

Mounting bracket 	Seal 	Washer 

7

—a@ —  

Cap nut  Terminal cover  Stopper 

Cap nut 

Cord (3 to 7) 

2 to 3 
See Note. 

Washer 
13eal  

(Roller) lever type 

(Roller) plunger type 

oC `)0 oC 

SC oC z Ll 

■ 

X A wrong example of using 
a bare crimp-type terminal lug  

Cord termination dimension 

Housing 

*)

;<0.,?>498= ?;98 ?=0

^ >URJMOMQK OIEH ZMUI WMSV
f D\YQTVP ^SP VPLO aT\P ^TZ L] TVV_]^\L^PO MPVYa% LXO _]P L \Y_XO

N\TWZ&^cZP ^P\WTXLV V_R SL`TXR LX A, TX]_VL^TYX ]VPP`P' 5 ML\P

N\TWZ&^cZP ^P\WTXLV V_R aTVV NL_]P L ]SY\^&NT\N_T^ QLTV_\P' >Q L

ML\P N\TWZ&^cZP ^P\WTXLV V_R T] _]PO O_P ^Y _XL`YTOLMVP NT\&

N_W]^LXNP]% TX]_VL^P T^ aT^S L WL\U ^_MP Y\ ^SP VTUP% Y\ L]]PWMVP

^SP ^P\WTXLV TX ^SP YZZY]T^P OT\PN^TYX QY\ ^SP Z_\ZY]P YQ

Z\P`PX^TXR L ]SY\^&NT\N_T^ QLTV_\P'

9IEH ZMUI GRQQIGWMRQ HMUIGWMRQ EQH UIGRPPIQHEFOI GXWWMQK VM]IV
"_XT^3 WW#^ 7Q GEVI RJ *$GRUI ^ 7Q GEVI RJ )$GRUI

^ DMUMQK

<RWI. 5]]PWMVP ^SP]P NYWZYXPX^] ]Y ^SL^ ^SP NY\O ]SPL^S T] + ^Y
,WW Z\Y^\_OPO Q\YW ^SP ]PLV PXO QLNP'

f 5]]PWMVP ^SP NY\O TX ^SP Y\OP\ YQ NLZ X_^% aL]SP\% ]PLV LXO

^P\WTXLV NY`P\'
f ALUP ]_\P ^SL^ ^SP WY_X^TXR M\LNUP^ YQ ^SP ^P\WTXLV NY`P\ T]

SPVO Mc ^SP NVLa] YQ ^SP SY_]TXR TX ^ST] ]XLZ&TX ]^\_N^_\P'

GSPX ^TRS^PX aT^S ^SP NLZ X_^'
f GY \PWY`P ^SP ^P\WTXLV NY`P\% \PVPL]P ^SP ]XLZ&TX ]^\_N^_\P Mc

PbZLXOTXR ^SP WY_X^TXR M\LNUP^ YX YXP ]TOP Mc _]TXR L WTX_]

]N\PaO\T`P\'
f 5 NY\O NLX MP O\LaX Y_^ \TRS^aL\O Y\ VPQ^aL\O Mc NSLXRTXR ^SP

WY_X^TXR OT\PN^TYX YQ ^SP ^P\WTXLV NY`P\'
f 6P NL\PQ_V ]TXNP ^SP VLcY_^ YQ ^P\WTXLV] T] OTQQP\PX^ MP^aPPX ^SP

"\YVVP\# VP`P\ ^cZP LXO "\YVVP\# ZV_XRP\ ^cZP L] TVV_]^\L^PO MPVYa'

f 5 ]PLV YQ LX LZZVTNLMVP NY\O OTLWP^P\ YQ .'1 ^Y 0'1 T] L]]PW&

MVPO ^Y ^SP ^P\WTXLV NY`P\ L^ ^SP OPVT`P\c ^TWP' JSPX L NY\O YQ

L OTLWP^P\ Y^SP\ ^SLX .'1 ^Y 0'1WWOTL' T] _]PO% _]P L

\PZVLNPWPX^ ]PLV =6'$;,((# =6'$;,() Y\ =6'$;,(* "]YVO

]PZL\L^PVc#' GY ]PN_\P ]PLVLMTVT^c% MP ]_\P ^Y _]P L ]PLV WPL^&

TXR aT^S ^SP OTLWP^P\ YQ NY\O' >Q L [_P]^TYX L\T]P]% ZVPL]P

NYX^LN^ cY_\ XPL\P]^ KLWL^LUPj] ]LVP] LRPX^'



**

Administrator
TextBox
Allegheny Electronics
1301 Potomac Ave..
Hagerstown, MD 21742
TEL 800-296-6460  301-739-6460
FAX 800-296-7674  301-739-5311
www.alleghenyelectronics.com


http://www.alleghenyelectronics.com


WIMATAKE  

Yamatake Corporation 
Advanced Automation Company 

International Business Headquarters 
Totate International Building 
2-12-19 Shibuya Shibuya-ku 
Tokyo 150-8316 Japan 
URL:http://www.yamatake.com  

This has been printed on 100% recycled paper. 

Specifications are subject to change tho notice. 

*+

&"'(&#!#%$' %$ )'"

GST] Z\YO_N^ SL] MPPX OP]TRXPO% OP`PVYZPO LXO WLX_QLN^_\PO QY\ RPXP\LV&Z_\ZY]P LZZVTNL^TYX TX WLNSTXP\c LXO P[_TZWPX^'
5NNY\OTXRVc% aSPX _]PO TX LZZVTNL^TYX] Y_^VTXPO MPVYa% ]ZPNTLV NL\P ]SY_VO MP ^LUPX ^Y TWZVPWPX^ L QLTV&]LQP LXO(Y\ \PO_XOLX^
OP]TRX NYXNPZ^ L] aPVV L] L ZP\TYOTN WLTX^PXLXNP Z\YR\LW'

$ @EJIW\ HIYMGIV JRU SOEQW ZRUNIU SURWIGWMRQ
$ @WEUW&VWRS GRQWURO HIYMGIV JRU WUEQVSRUWEWMRQ EQH PEWIUMEO LEQHOMQK PEGLMQIV
$ /IURQEXWMGEO&EIURVSEGI PEGLMQIV
$ 1RQWURO HIYMGIV JRU QXGOIEU UIEGWRUV

BP`P\ _]P ^ST] Z\YO_N^ TX LZZVTNL^TYX] aSP\P S_WLX ]LQP^c WLc MP Z_^ L^ \T]U'

")*#
D\TX^PO TX ?LZLX "FD#

*]^ 9OT^TYX3 V]]_PO TX 5Z\'% +))+

,\R ;RWbW]\4 ?aacSR W\ DQb(& ,**-

Administrator
TextBox
Allegheny Electronics
1301 Potomac Ave..
Hagerstown, MD 21742
TEL 800-296-6460  301-739-6460
FAX 800-296-7674  301-739-5311
www.alleghenyelectronics.com


http://www.alleghenyelectronics.com

